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Instructions_for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

3. Attempt any four questions in all.

4. All questions carry equal marks.
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1. Discuss the various theories associated with the decline of Indus Valley civilization
with special reference to environment.
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2. Was the affinity between the Mughal rulers and the Cheetah ¢r the Lion inspired

by conservation concerns or by needs of gaming and entertainment ? Discuss.
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3 1t would be difficult to write the history of India’s environment without
understanding the colonial forest policy. Comment.
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4. Critically examine the significance of multi-purpose river valley projects.
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5. Do you agree with the view that the Green Revolution addressed the issue of
food security, but failed miserably in its social and ecological context ?

wmwm%m%%ﬁa—aﬁ%m—wﬁﬁaﬁgﬁﬁ%mﬂﬁ,m
Tz G ok aRRafE gy ¥ 90 We IEh W@ |

6. Bhopal Gas Tragedy is a human tragedy with far-reaching implications. Do you

agree ?
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7 Define Global Warming. How does it pose a threat to the world community ?

%@a—mﬁqﬁﬂﬁaﬁ!ﬁﬁmw%ﬁﬁaw%m@mﬁ%?

8. Write short notes on any two of the following :
(a) Gandhi and Environment
(b) Narmada Bachao Andolan
(c) Green House Gases
(d) Unseasonal Rain
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